=LPDB
-.6% 5

*UXSD S5RINiDG

%G U 7\J

o
®
=
n
>
o
=
3
=
]
7N 7N 7\6]
2UJDQLIDFID L IXQNFIRQRZDQIH VAVIHPYZ EH]SIHFTHEWIZD * DNINIRVNRSLD L HNVSHUIN]D GDNINIRVNRSUIQD 2UJDQLIDFID L IXQNFIRQRZDQIH \AVIHPYZ
3UJHGPIRI VZRERGQHIR Z\ERIX = Gl QT 3aFINRZVN. PJU ODVIRE 3UJHP\VIDZ. =DICFID RQ IIQH EHISIHFTHEVIZD 3U]HGPIRI VZRERGQHJR
a 7RPDV] =DICFDRQUQH  .6% 5 6%5 % - Z\ERIX = GU IQT 3gFINRZVNL 7RPDV] =D
x ICFDRQUQH  -6%5 =
u 7\6]
> 20IDQL]DFID L IXQNFIRQRZDQH VAVIHPYZ
EHISHFTHEWIZD 3UTHGPIRI VZRERGGHJR
Z\ERUX = GU LQT 3aF]NRZVNL 7RPDV] =D
ICFDRQUQH 6% 5 -
N N N
-CIWREF\  .6%5 - %DGDQD * 1% GU O\ID 1RZDN ODJIGDIHQD RQRVNRSID GUKDE +\ID ODIJRUIDID $%
$  /$% .5<0,1%/67<., .6%5 .6%5 %/
%g -U
N
7\C] * DNINRVNRSLD L HNVSHUN]D GDNINIRVARSLIQD
%RPHILD IZDUJ\ L RND *U KDE 6HIDQIQDX PJUODVIRE 3[IHP\VDZ $  /$%
OINKDU SIRI 8-" $  3IRIRINSRZDQID .5<0,1$/,67<., .6%5 %G/
© %5 %g/
7\6]
el %DGDQID *1$ GU O\JD 1RZDN ODJIGDIHQD
a) 2V]XVIZD L QDGXT\FID IHHIQIRIPDINFIQH GU $% .6%5 %y /
z KDE_ &LHVIHWN. = RIFHFK $%
= .20387(52:$  .6%5 %3/ 7\6]
2 == 2V]XVIZD L QDGXT\FID IHHIQIRIPDINFIQH Gy
3 KDE_ &LHVIHWN. = RIFHFK $%
%DGDQID *1% GU O\ID 1RZDN ODJIGDIHQD .20387(52:$  .6%5 %§/
% 6%5 %3/
7\6]
] %DGDQID 1% GU O\JD 1RZDN ODJIGDIHQD
9%RPHILD IZDUJ\ L RND *U KDE 6HIDQIQDX % 6%5 %3/

OINKDUI SIRI 8-~ $%
.20387(52:$% .6%5 %3/

7\6]

2V]XVIZD L QDGXT\FID IHH.QIRUPDINF]QH  GU
KDE &IHVIHIVNL = RIFIHFK  $%
.20387(52:$% .6%5 %3/




